

Kansas Corporation Commission Oil & Gas Conservation Division

136423

Form ACO-1

June 2009

Form Must Be Typed

Form must be Signed

All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No. 15
Name:	Spot Description:
Address 1:	SecTwpS. R
Address 2:	Feet from North / South Line of Section
City: State: Zip:+	Feet from East / West Line of Section
Contact Person:	Footages Calculated from Nearest Outside Section Corner:
Phone: ()	□NE □NW □SE □SW
CONTRACTOR: License #	County:
Name:	Lease Name: Well #:
Wellsite Geologist:	Field Name:
Purchaser:	Producing Formation:
Designate Type of Completion:	Elevation: Ground: Kelly Bushing:
New Well Re-Entry Workover	Total Depth: Plug Back Total Depth:
Oil WSW SWD SIOW Gas D&A ENHR SIGW OG GSW Temp. Abd. CM (Coal Bed Methane) Cathodic Other (Core, Expl., etc.):	Amount of Surface Pipe Set and Cemented at: Feet Multiple Stage Cementing Collar Used? Yes No If yes, show depth set: Feet If Alternate II completion, cement circulated from: sx cmt
Operator:	
Well Name:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth: Original Total Depth: Conv. to ENHR	Chloride content: ppm Fluid volume: bbls Dewatering method used:
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled Permit #:	Operator Name:
Dual Completion Permit #:	Lease Name: License #:
SWD Permit #:	QuarterSec TwpS. R East West
ENHR Permit #:	County: Permit #:
GSW Permit #:	
Spud Date or Date Reached TD Completion Date or Recompletion Date Recompletion Date	

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY
Letter of Confidentiality Received
Date:
Confidential Release Date:
Wireline Log Received
Geologist Report Received
UIC Distribution
ALT I II Approved by: Date:

Side Two

1136423

Operator Name:			Lease Name: _			_ Well #:	
Sec Twp	S. R	East West	County:				
time tool open and clo	sed, flowing and shut es if gas to surface tes	d base of formations pen in pressures, whether s st, along with final chart(well site report.	hut-in pressure rea	ched static level,	hydrostatic press	sures, bottom h	ole temperature, fluid
Drill Stem Tests Taken (Attach Additional S		Yes No		og Formation	n (Top), Depth an	d Datum	Sample
Samples Sent to Geol	ogical Survey	Yes No	Nam	е		Тор	Datum
Cores Taken Electric Log Run Electric Log Submitted (If no, Submit Copy,	d Electronically	Yes No					
List All E. Logs Run:							
		CASING	RECORD Ne	ew Used			
		Report all strings set-			on, etc.		
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs. / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
		ADDITIONAL	. CEMENTING / SQL	JEEZE RECORD			
Purpose: —— Perforate —— Protect Casing —— Plug Back TD	Depth Top Bottom	Type of Cement	# Sacks Used		Type and F	Percent Additives	
Plug Off Zone							
Shots Per Foot		ON RECORD - Bridge Plug ootage of Each Interval Per			cture, Shot, Cemen nount and Kind of Ma	•	Depth
TUBING RECORD:	Size:	Set At:	Packer At:	Liner Run:	Yes No		
Date of First, Resumed	Production, SWD or EN	HR. Producing Met			other (Explain)		
Estimated Production Per 24 Hours	Oil E		Mcf Wat			Gas-Oil Ratio	Gravity
DIODOGITIC	ON OF CAS:	<u> </u>	AETHOD OF COMPLY	ETION:		DRODUCTIC	MINITEDVAL.
DISPOSITIO	ON OF GAS: Used on Lease	Open Hole	METHOD OF COMPLE Perf. Dually		nmingled	PRODUCITO	ON INTERVAL:
(If vented, Sub		Other (Specify)	(Submit		mit ACO-4)		

Form	ACO1 - Well Completion
Operator	Palomino Petroleum, Inc.
Well Name	Site 32 1
Doc ID	1136423

Tops

Name	Тор	Datum
Anhy.	2067	(+ 592)
Base Anhy.	2099	(+ 560)
Heebner	3929	(-1270)
Lansing	3969	(-1310)
ВКС	4284	(-1625)
Marmaton	4330	(-1671)
Pawnee	4417	(-1758)
Ft. Scott	4473	(-1814)
Cherokee Sh.	4499	(-1840)
Miss. Por.	4581	(-1922)
LTD	4689	(-2030)



RECEIVED DEC 1 U 2012

PO Box 93999 Southlake, TX 76092

Voice: (817) 546-7282 Fax: (817) 246-3361

Bill To:

Palomino Petroleum, Inc. 4924 SE 84th St.

Newton, KS 67114-8827

Invoice Number: 133807 Invoice Date: Nov 28, 2012

Page:



CustomerID	Well Name/# or Customer P.O.	Payment	Terms
Palo	Site 32 #1	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-03	Great Bend	Nov 28, 2012	12/28/12

Quantity	Item	Description	Unit Price	Amount
180.00	MAT	Class A Common	17.90	3,222.00
120.00	MAT	Pozmix	9.35	1,122.00
7.00	MAT	Gel	23.40	163.80
75.00	MAT	Flo Seal	2.97	222.75
316.66	SER	Cubic Feet	2.48	785.31
398.40	SER	Ton Mileage	2.60	1,035.84
1.00	SER	Rotary Plug	2,249.84	2,249.84
30.00	SER	Pump Truck Mileage	7.70	231.00
30.00	SER	Light Vehicle Mileage	4.40	132.00
1.00	CEMENTER	Dustin Chambers		
1.00	EQUIP OPER	Kevin Eddy		
1.00	OPER ASSIST	Kevin Weighous		
		Cultotal		0.404.54

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 2291.13

ONLY IF PAID ON OR BEFORE Dec 23, 2012

Subtotal	9,164.54
Sales Tax	577.37
Total Invoice Amount	9,741.91
Payment/Credit Applied	
TOTAL	9,741.91

ALLIED OIL & GAS SERVICES, LLC Federal Tax 1.D.# 20-5975804 059130

REMIT TO P.O. BOX 93999	SERV	ICE POINT:	
Site 3 2 SOUTHLAKE, TEXAS 76092		Laceor	Bead Ks
311632			
DATE 11-25-12 SEC, 2 TWP. RANGE 261 C	ALLED OUT ON LOCATION	JOB START	JOB FINISH
2 ·	1 - 11	COUNTY	STATE
	KS 3W/KUS ESWO	Ares5	1 to 2
OLD OR(NEW (Circle one)		4	6,25
CONTRACTOR NO (19/	01411.4	103	للام الله
	OWNER		
TYPE OF JOB ROYAL Plag HOLE SIZE 77/4 T.D.	OFMENT		
CASING SIZE 6 1/4 DEPTH	CEMENT	<i>~</i>	
TUBING SIZE DEPTH	AMOUNT ORDERED 300	3155 GD	4.06554
DRILL PIPE 4/2 DEPTH 2090	404, poz 44.gel	1/4 1/10	
TOOL DEPTH			4-1
PRES. MAX MINIMUM	COMMON180	0.5.90	3.222.00
MEAS, LINE SHOE JOINT	POZMIX 12d	@ 7.35	1127,00
CEMENT LEFT IN CSG. 41.1	GEL 7	@ <u>73.48</u>	
PERFS.	CHLORIDE	_@ <u>_<_3.10_</u> @	<u> </u>
DISPLACEMENT Grendus	ASC	- @	Security of the security of th
EOUIPMENT	Moseal 75	_@	222.75
EQUIPMENT	10041 10	_@ 	***************************************
		- [©]	
PUMPTRUCK CEMENTER DUSTIN Chambers		-	
# 398 HELPER V Kevin Eddy	* · · · · · · · · · · · · · · · · · · ·	- <u>@</u>	
BULK TRUCK #344/170 DRIVER KON'S WEGGOUS	Production and the second seco		***************************************
#344/170 DRIVER /1011/2 Way 6545		_	
DOLK IKUCK		_	**************************************
# DRIVER	HANDLING 316.66	@ 2.48	785. 31
	MILEAGE J 3.28 X 30 V	2.60	1.0 35. 84
REMARKS:		TATAL	6.551.
	398.40	IOIAL	<u> </u>
1 2092 - 50 265	340''		
2: 17.62 < 40 4K	SERVI	CE	
5, 600 - 50 cks	2 20		
4. 260 - 60 6KS	DEPTH OF JOB えゅっち		
5. 60 - 20 5Ks		2249. 85	
RH, — 30 5K5	EXTRA FOOTAGE	_@	
MH - 20 5/63 Play Down 15/00 40	MILEAGE HUM 30	@ <u>7.70</u>	231.00
11, 10 111 pint 10,00 10,00 10	MANIFOLD	_@	185.00
	LUM 30	@ 4.40	132.00
ρ .		@	
CHARGE TO: Palanina Permley			84
			. 2.612. <u>89</u>
STREET			2.612.84
		TOTAL	. 2.612.
STREET	PLUG & FLOA	TOTAL	. 2.612.
STREET	PLUG & FLOA	TOTAL	. 2.612.
STREET	PLUG & FLOA	TOTAL TEQUIPMEN	VT
STREET	PLUG & FLOA	TOTAL TEQUIPMEN	VT
STREET	PLUG & FLOA	TOTAL FEQUIPMEN	VT
STREET STATE ZIP To: Allied Oil & Gas Services, LLC.	PLUG & FLOA	TOTAL FEQUIPMEN @ @ @ @	VT
STREET STATE ZIP To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment	PLUG & FLOA	TOTAL FEQUIPMEN @ @ @ @	VT
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or	PLUG & FLOA	TOTAL FEQUIPMEN @ @ @ @ @	VT
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was	PLUG & FLOA	TOTAL FEQUIPMEN @ @ @ @ @	VT
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or		TOTAL F EQUIPMEN	VT
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL"		TOTAL F EQUIPMEN	VT
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	SALES TAX (If Any) 577	TOTAL F EQUIPMEN	VT
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any) 577	TOTAL F EQUIPMEN	VT
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any) 577	TOTAL F EQUIPMEN	VT
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL"		TOTAL F EQUIPMEN	VT
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side. PRINTED NAME X LAVOR R URBAN	SALES TAX (If Any) 577	TOTAL F EQUIPMEN	VT
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any) 577	TOTAL F EQUIPMEN	VT
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side. PRINTED NAME X LAVOR R URBAN	SALES TAX (If Any) 577	TOTAL F EQUIPMEN	VT



RECEIVED
DEC 0 3 2012

PO Box 93999 Southlake, TX 76092

Voice: (817) 546-7282 Fax: (817) 246-3361

Bill To:

Palomino Petroleum, Inc. 4924 SE 84th St. Newton, KS 67114-8827

INVOICE

Invoice Number: 133716
Invoice Date: Nov 19, 2012

Page: 1



Customer ID	Well Name/# or Customer P.O.	Payment	Terms
Palo	Site 32 #1	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-01	Great Bend	Nov 19, 2012	12/19/12

Quantity	Item	Description	Unit Price	Amount
150.00	MAT	Class A Common	17.90	2,685.00
3.00	MAT	Gel	23.40	70.20
5.00	MAT	Chloride	64.00	320.00
162.50	SER	Cubic Feet	2.48	403.00
222.30	SER	Ton Mileage	2.60	577.98
1.00	SER	Surface	1,512.25	1,512.25
30.00	SER	Pump Truck Mileage	7.70	231.00
30.00	SER	Light Vehicle Mileage	4.40	132.00
1.00	CEMENTER	Dustin Chambers		
1.00	EQUIP OPER	Kevin Eddy		
1.00	OPER ASSIST	Kevin Weighous		
1.00	OPER ASSIST	Charles Kinyon		
		Subtotal		5,931.43

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1,482.85

ONLY IF PAID ON OR BEFORE
Dec 14, 2012

Subtotal	5,931.43
Sales Tax	193.74
Total Invoice Amount	6,125.17
Payment/Credit Applied	
TOTAL	6,125.17

ALLIED OIL & GAS SERVICES, LLC 053600

Federal Tax I.D.# 20-5975804

PENETO BO ROV 31				SERVICE POINT:		
REMIT TO P.O. BOX 31 RUSSELL, KANSAS		LONG Start Francis				
Site 32 ISEC TWE	RANGE	CALLED OUT	ON LOCATION	JOB START	JOB FINISH	
	RANGE 7642			COUNTY	STATE '	
LEASE 5/2 32 WELL# /	LOCATION UT	14. 3. 3. 3. 2.	1745	N255	L 55	
OLD OR NEW (Circle one)	Einzo			1,01	Q+ "	
CONTRACTOR Mollord		OWNER			Annual Control of Cont	
TYPE OF JOB Sur tage		Z1723 ZT23.IT				
HOLE SIZE 12/19	TD. DEPTH 231	CEMENT	RDERED 150	aks Clo	55A 37000	
CASING SIZE 46 1/4 TUBING SIZE	DEPTH 277	2/194				
DRILL PIPE 4/2	DEPTH	/	8	ny na avona o civillo composition de la civil a con composition de la civil a con composition de la civil a con		
TOOL	DEPTH	 COMMON_	150	@ 17.98	2.685.00	
PRES. MAX MEAS. LINE	MINIMUM SHOE JOINT	POZMIX _		(a)		
CEMENT LEFT IN CSG. 15 A		GEL _	3	@ <u>23, 40</u> @ <u>69,00</u>		
PERFS.		CHLORIDE		@ <u>&y.ao</u>	/	
DISPLACEMENT 13.75	Fiesh	ASC			and the second s	
EQUIPM	IENT	*******************************				
TANK TENNINGS CONSTRUCTO	Destin Lhouber	1		@	Contraction of the Contraction o	
PUMPTRUCK CEMENTER :	sin Eddy		***************************************	@		
BULK TRUCK	•			@		
# 34/ DRIVER K.	12 - Willy 40 VIS -			@	to provide the pro	
BULK'TRUCK # DRIVER C	Gorles KlayDA	3 TININI	G 162.50	@ @ ス·リ೪	403.00	
# DRIVER C	Saartiisiisiisiisiikaan aankaatasta karjaa fiinkirahuu	MILEAGE	X 05 K 1/4.7	2.60		
REMA	RKS:	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		TOTA	1 4056, 12	
Brook Eit Calara and		222.30				
DULL Elle Grestenow		SERVICE				
14.11 1500FS Class A	31200 712 706	P. 3435544 3 6 3 F	~ 7/20		Agy sans an order commence and are also be a provider a dissector of	
Pisplace 13,75 466		DEPTH OF	JCK CHARGE	1512	. 25	
100 Por 630		EXTRA FO	OTAGE	@		
This Dona	7		<u> Num 3</u>		231.40	
		MANIFOL	DQ.	2_@ <u>7.7</u> 0	732.20	
		**************************************		@		
CHARGE TO: Polomina	Deroleun				AL 1.875.3	
	I continued and a state of the			TOT	AL / 8/0"	
STREET	The state of the s	AMARIAN AMARIAN VIII				
CITYSTAT	anne de la composition della c	PLUG & FLOAT EQUIPMENT				
		which the electron parameters are desired			ACCUPATION AND ADMINISTRAÇÃO A	
				@ @		
				<u> </u>		
To: Allied Oil & Gas Service	s, LLC.	1ent			-	
You are hereby requested to r and furnish cementer and hel	per(s) to assist owner	or	and the same and a constitution to the same and and accompanies to			
contractor to do work as is listed. The above work was		was		TOT	TAL	
done to satisfaction and supe	t or	SALES TAX (If Any) 193, 93 TOTAL CHARGES 5, 931, 43 1, 482, 89 DISCOUNT 1, 482, 89 1, 482, 89 1, 482, 89 1, 482, 89 1, 482, 89 1, 482, 89				
contractor. I have read and u	RAL SALES T					
TERMS AND CONDITIONS" listed on the reverse side.		TOTAL C	TOTAL CHARGES 5, 931. YO			
VT	25	25% 1. 4 8 2. 50 IE PAID IN 30 DAYS				
PRINTED NAME X Suffin Monaled SIGNATURE X Proposition Thank You!!		DISCOU	171 171	118 58		
v A	775		7.7	70. ==		
SIGNATURE IN MAN						
76. KY0	u [[
1 /100101						